Form P-359 Rev. 12-19-2007

TΑ	BU	ILA	T۱	0	Ν	

COL	יחונ	τ	NI.
SCF		I ICJ	IN.

Snow Plows				CONTRACT NO.:	H-15-242R	DATE OPENED:	12/2/2014	
					- FOB:	Wynne, Hope, Ft. Smith, Batesville, Russellville & Harrison, AR	PAGE:	1 of 4
VENDOR:	1085 5		57					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNI	T PURCHASES
1.	11	5,136.00	56,496.00	Henderson	RSP-10-AR2015	60 days ARO	12/31/2	2015
2.	31	7,237.00	224,347.00	Henderson	RSP-12-AR2015	60 days ARO	12/31/2	2015
Exceptions to Specifications			tions					
		TOTAL:	280,843.00					

CARD: 01-49

TENTATIVE AWARD BY: Purchasing Committee

ITEM(S): Complete Bid

AWARDED TO: Valk Manufacturing Company (1/08/2015)

DATE: 12/29/2014

Form P-359 Rev. 12-19-2007

DESCRIPTION: Snow Plows				TABULATION		F0111 F-35	9 Rev. 12-19-2007	
				CONTRACT NO.:	H-15-242R	DATE OPENED:	12/2/2014	
					FOB:	Wynne, Hope, Ft. Smith, Batesville, Russellville & Harrison, AR	PAGE:	2 of 4
		lanufacturing	Company					
VENDOR:		ox 428 ingstown, PA	17072-0428					
_	Rober	t P. Lang						
ITEM NO.	717-76 QTY.		EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT	
TENINO.		PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT	PURCHASES
1.	11	7,729.00	85,019.00	Valk	RPT1036-116PRC-ECT	60 days ARO	2/1/2015	
2.	31	9,554.00	296,174.00	Valk	RPT1236-116PRC-ECT	60 days ARO	2/1/2015	
		TOTAL:	381,193.00					
							CARD:	01-49
TEN	TATIVE	AWARD BY:				DATE:		

ITEM(S):_____
AWARDED TO:

Form P-359 Rev. 12-19-2007

ТΑ	BU	ILA	TI	ΟN	

DESCRIPTION:	

Snow Plows CONTRACT NO.: H-15-242R DATE OPENED: 12/2/2014 Wynne, Hope, Ft. Smith, Batesville, PAGE: 3 of 4 FOB: Russellville & Harrison, AR HilBilt Sales Corp. Arkansas 20036 1-30 VENDOR: Benton, AR 72015 Brian Rodgers 501-316-2500 ITEM NO. DELIVERY ADDITIONAL UNIT PURCHASES QTY. PRICE EXTENSION MAKE MODEL 11 High Country 8,695.76 95,653.36 Bonnell 60 days ARO 6/1/2015 31 10,251.37 317,792.47 Bonnell High Country 60 days ARO 6/1/2015 413,445.83 TOTAL: CARD: 01-49

TENTATIVE AWARD BY:_____

1.

2.

ITEM(S): _____

AWARDED TO:

DATE:_____

TABULATION

DESCRIPTION: Snow Plows CONTRACT NO.: H-15-242R DATE OPENED: 12/2/2014 Wynne, Hope, Ft. Smith, Batesville, Russellville & Harrison, AR PAGE: 4 of 4 FOB: Viking-Cives Midwest P.O. Box 295 VENDOR: Morley, MO 63767 Daryl Hay 573-579-3019 ITEM NO. QTY. PRICE MAKE MODEL DELIVERY ADDITIONAL UNIT PURCHASES EXTENSION 11 Henke 60 days ARO 1. 8,695.00 95,645.00 36R10TT 12/2/2015 2. 31 10,430.00 323,330.00 Henke 36R12TT 60 days ARO 12/2/2015 TOTAL: 418,975.00

CARD: 01-49

TENTATIVE AWARD BY:_____

DATE:

ITEM(S):

AWARDED TO:

Form P-359 Rev. 12-19-2007